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Answer the following questions.

(Q1.) Choose the correct answer.

(1) The Order and the Degree of the differential equation (y”)3 — 2(y/)* +y = e¥* is.
(A)O=4,D=3 (B)O=3,D=4 @0:2,17:3 (D) O =3,D =3

2)y —y*=eVisa- oo equation.

(A) linear nonlinear

(3) The dependent variable ,and independent variable of differential equation 3y’ — y? = e'*¥ are.

(A) y is dependent, z is independent (B) t is dependent, y is independent
(C) t is dependent, x is independent y is dependent, t is independent

(Q2.) State whether the following equations are linear or non-linear and gives its order degree, and

the dependent variable, and independent variable. ‘j .+ .j |- Y = .-

(L-w) x', A '_;:.
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(Q3.) Solve the following.

1. Verify that y = e 2* is a solutions of the following differential equation y” — 2y’ — 8y = 0.
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2. Verify that y = ze®* is a solutions of the following differential equation y” — 4y’ + 4y = 0.
N

Y} ?
Y=xe g=xe re 9 2x(2€)r2e 12
= ‘/;ceu + ye™X

A S

fji’- “U/-r"[j:o LIpad

2¥

2y 2 X 2x g
Yre +4e -—LlC).xez‘_,.e y¥4xe — QO

X

2X X 2 2X ;
e +ye - xe* ye X qxe” =

O =— o
LS = 2HS -



3. Verify that y = sin(3x) is a solutions or not of the following differential equation y” + 9y += 0.
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4. Verify that y = xsinz is a solutions or not of the following differential equation y" — 2y’ +y =
o > - (=] > . >
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(Q4.) Determine whether the given first-order differential equation is linear (or) nonlinear in the
— e—

indicated dependent variable y(z — 1)*dx + dy = 0.

dx A S

SCX—\)%* dy=0o Vit 9S
;\,,( “dx  dX

(x-0Y +dJd - o 3+l =
d %

_Q_,_fQ_ X (x..s)ag o) [inoou
o X de@ =
('“QP‘-'-")(

(Q5.) If y = ¢;€* + coxe”™ is a solution to the differential equation y” — 2y’ + y = 0. Find the value
e ——

of ¢1, and e;. If y(0) = 1, and /(0) = 3.
R — iy

J=aet s et JC8)=L

1 ~;c,/é7+<;z(¢)//,’ * Y

|\ =G

/ X X X /
J=cCe +Cexe+Cre Ylor= 3
' 9

G
3 = & (ot r af” 0

Cz= 2




